. Write an essay on ‘Green Revolution’.

‘TRa wifd’ W T ey faftew |

. Describe the need of ‘Public Distribution System’
in Economies like India.

URA SE sTefemewell H gESiae faaior gomet i
HAETIHA T JhIT ST |
. Do you agree with the statement that the

economies like India have benefitted by the growth
of ‘Multinational Companies’ ?

FM AT T HUT ¥ Wend ¥ R sgusm frmi @
o ¥ WA St srefoaensti wi @Y gen 2

. Write an essay on the state of Balance of Payment
in Planning Period in India.

YRA H A Fd H JaE-gged @ RRafd |
fray fafem)

. Explain whether Indian Taxation System is
prograssive.

F RAE HY AL FfqEie § 7 A it

. What are the measure factors effecting increase in
Public Expenditure in India ?

IRA § gese = gfg & geT gt sReh @
T T |
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Note .(— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

9T - ' yv-ua ‘e’ @R ‘e’ S wuel | fawfsa ¥ g9

TUE & FMEIER ye & SW S|
Section—-A 4x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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Qug—37
(3tfa &g ST w9)

o .- 5=l 9 93 & S ST 8T ST SW Ol

TATER TH I8, T a9 A1 Afshan 30 vrssi A
TiEifqa wINT 9% 999 4 3% &1 B

1. Give answers to the following any four questions :

frafafed § 9 ffgl o) 9941 & SW ST -
(i) Impact of education on agricultural structure
FS G R fFren w1 guE
(i1)) Capital Output Ratio (COR)
gSit SR S
(ii1) Poverty Line
TS Y
(iv) Disguised unemployment
o5 SIS
(v) Consolidation of holding
EIRCEE |
(vi) Plant protection measures

qie GLEOT U™
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(vii) Buffer stock
i woerRo
(viii) Black money
EJSIRCE]
Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 16 marks.
gus—o
(g AT T9)

feor .- fo<l 9R weHl & SW SISl MU o9 I Al

sfasraq 200 I H OUfEifHa SifSTl TdE T9H
16 3% =1 1

. Explain the impact of population growth rate on

human capital formation of a country.

SAEEA ot X H I H AEa gt fEt woged
el JATEt B foER ¥ 9uiE Hifeg |

. Analyse the trends of saving and investment in

Indian Planning Period.

IRAE A FE B og=d IR FEwr @t ggtee @
faweroor ity |
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